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QUESTION 1

Refer to exhibits. Exhibit A. 

Exhibit B. 

Exhibit A shows the SD-WAN performance SLA and exhibit B shows the SO-WAN interface and the static routes
configuration. Port1 and port2 are member interfaces of the SD-WAN, and port2 becomes a dead member after
reaching the failure thresholds Which statement about the dead member is correct? 

A. Subnets 100 .64.1.0/23 and 172 . 20 . 0. 0/16 are reachable only through port1 

B. SD-WAN interface becomes disabled and port1 becomes the WAN interface 

C. Dead members require manual administrator access to bring them back alive 

D. Port2 might become alive when a single response is received from an SLA server 

Correct Answer: A 
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QUESTION 2

An administrator is troubleshooting VoIP quality issues that occur when calling external phone numbers The SD-WAN
interface on the edge FortiGate is configured with the default settings, and is using two upstream links One link has
random jitter and latency issues and is based on a wireless connection 

Which two actions must the administrator apply simultaneously on the edge FortiGate to improve VoIP quality using
SD_WAN rules? 

A. Select the corresponding SD-WAN balancing strategy in the SD-WAN rule. 

B. Choose the suitable interface based on the interface cost and weight. 

C. Use the performance SLA targets to detect latency and jitter instantly. 

D. Place the troublesome link at the top of the interface preference list. 

E. Configure an SD-WAN rule to load balance all traffic without VoIP. 

Correct Answer: AC 

 

QUESTION 3

Which statement about using BGP routes in SD-WAN is true? 

A. Learned routes can be used as dynamic destinations in SD-WAN rules. 

B. You must use BGP to route traffic for both overlay and underlay links. 

C. You must configure AS path prepending. 

D. You must use external BGP. 

Correct Answer: A 

 

QUESTION 4

Refer to the exhibit 

Based on the exhibit, which two statements about existing sessions on FortiGate after a firewall policy change, are
true?(Choose two.) 

A. The old sessions terminate after a policy change 
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B. Existing sessions remain unchanged after a policy change 

C. All sessions are flushed by FortiGate after a policy change 

D. FortiGate re-evaluates new packets after a policy change 

Correct Answer: BD 

 

QUESTION 5

Refer to the exhibit. 

Which two statements about the debug output are true? (Choose two) 

A. The debug output shows per-IP shaper values and real-time readings. 

B. FortiGate provides statistics and reading based on historical traffic logs. 

C. Traffic being controlled by the traffic shaper is under 100 KB/s. 

D. This traffic shaper drops traffic that exceeds the set limits. 

Correct Answer: CD 
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